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 RC 

 
 

  
    

 

 

 C 

 ' 470R R   

 E K 

1 1 0t  

;R Cu u 

Cu  وRu q t q t 

   .1 tq t A e  A  و; ;C E R 

 5V E  

 5CE mJ C 

2 2
 

 

 1 2 K  
 

  
    

 

 
6E V1,2C F 5R K  

1 

2 ; ; ; ;C
C

du C E R u t
dt

 

3.1
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 

4.R C 

5 Cu t  

30  24  18  12  6  0   t ms 
       Cu V 

) ( 2,71)e ( 

 
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6   Cu t f t. 

7 i t; ;C E R 

 0t   و t  

8 t .  

  
    

 

C 
3E V 
10R K  

 K  

 Cu t

)1( 

 K 0t  Cu t2 

1 
15t s  

2 
 

3 C 

4 0t  :  

 

 i t q t 

 Cu t q t.  

 Cu t. . C
C
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  

51
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    

 

 
E10R K  

I - 

1 

2 

   Cu t f t 

3 

0C
C

du u
dt

    

ln( )Cu   

( )t ms   

0.5 

10 

( )Cu V

( )t s

3   

2

  02شكل 



 3 

  .
t

Cu t E e 


   

II -   ln Cu f t  

1 

2C 

3E 
 

  
    

 

(01) 
C1 2;R R 
E  

1 
(01)(02) 

1 

2 (01)(02) 

 
3 

( )Ru t 

4 

  1.
t

Ru t E e 



 

 

 

 
 

5(03) 
 

 i t0 1; ;I t  

– 
1 0 1; ; ;C R I   

 
2R2=2.R1 
2 
R21 
 

 
 

 
 

C

R1 

E

2 1 
K 

0 

R2 

0.01 

 2 

 u   

( )t s   

01 

02 

0.01 

0.04 

( )i A   

( )t s   
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    

 

2TOTR R 

I 
0,33I mA 

qcu 
 

1c 

21c mF20 
 

3 
7 , 5s 

0,330I mA' 0,165I mA 

II 
0 6 , 4u u V  
21 

 

1 

21 . 0
2

c
c

du u
dt RC

  

3 

4t  

5cu 

6 

7 
 

 LR  
 

  
    

 

135R  
12E V 

0t  

1 

1 

2 
r 

3L  

( )q mC

( )Cu v   

2  

2  

20 

0.06 

(A)i

(m )t s   

01 
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1 
K 

+ 

( , )L r

E 

A B 

4 
)2 ( 

 
, ,R r L 

 
 

 

  
    

 

E
20R   

I - 
1 

 

2   Lu t f t 

 

30diA i
dt

  

  0.
t
Ai t I e


A 

II -  یمثل البیان تغیرات   ln i f t  
1 

2L 

3E 
 

  
    

 

( )r( )L 
4,5E VK1 

1           
        

 
20t K 
          

( )i t 

0( ) 1
r t
Li t I e

   
 

0I 

 

3  teti 10145,0)(  t 

 i 

( )L H   

( )ms   
0.2  

2  

02 

ln ( )i A   

( )t ms   
0.2  

10 
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 0I 

( )r( )L( ) 
4 
 
( 0,3 )t s 
 

  
    

 

 
6E VK 

10r  ( )L200R   
1 

 
ABuBCu 

 0t  

12 
1 

 

ABu;dii
dt

 

BCui 

2 

 0I 

 

– 

 0I 

–( ) 
 

 
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